
Use the yellow trees and dice to play with six players 
with the base game rules or with the expansions.

Additional 
Player

*

20 Tree Tokens: for the 6th player.
5 Dice:  for the 6th player.
4 Negative Value Tokens 1x(-1pt, -2pt, -4pt, -5pt)

COMPONENTS 1
2
3

1

2
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* Split into three teams, with two players on each team. 
All players still play simultaneously. When both 
partners have tokens in the same forest, their tokens 
are stacked together. During scoring, partners’ tokens 
are counted together and points are awarded to the 
partnership as a whole and partners win as a team.

Partnership 
Variant
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Before setup, replace one 3pt 
and one 5pt token with the -4pt 
and -5pt tokens. 
  
Randomly pair the -1pt and -2pt 
with the -4pt and -5pt. 
  
Randomly deal the second place 
tokens to forests with positive 
first place tokens.
  
When scoring forests with 
negative point values, give the 
worst token to the player with 
the fewest trees and the other 
token to the player with the 
second fewest trees. If there are 
ties, resolve them in the 
tiebreaker turns.
  
Tiebreaker turns cannot cause a 
player who was not originally in 
(or tied in) a negative token 
position to get a negative token.

Negative Value Expansion

4

4
Give the 
-4pt token to 
Yellow and the 
-2pt token to Blue. 

White and Green play 
as a team and have 
the most trees in 
this forest.


